02335 Abstiitzzylinder

© norelem

Beschreibung

Werkstoff:
Vergiitungsstahl.

Ausfiihrung:
Grundkorper briiniert.
Druckbolzen gehértet und briiniert.

Zeichnungshinweis:

J = Montageschraube

L = Kugeldruckschraube

M = Gewindestift mit Innensechskant

1) Schraubenauflage
2) Sechskantmutter
3) Kugeldruckschraube

www.norelem.com




02335 Abstiitzzylinder

A-A
A e
] I
2| I TR A
|
F gA
0B _
i__'_‘:!:_'_‘_i ﬂ
\ F 1 1
oy s =
N - o .
[}
S
' L
Y y
|
L-Ll ’I
Y J
02335-06039 28|14 3313910 141 22 M6 M6x12 M6x16 M4x8 4 4000 10 22
02335-08052 3519 42|52|15| 18,8 | 28,5 M8 M8x16 M8x20 M4x8 5 6000 10 27
02335-12070 50|26 607017 | 28,5 42 M12 M12x24 M12x30 M5x12 8 9000 15 30
02335-16080 6033 70|80|22| 26,5 47 M16 M16x32 M12x30 M5x15 10 9000 15 35

www.norelem.com

© norelem




02335 Abstiitzzylinder

© norelem www.norelem.com



